[DENTITIES: $PECIAL PRODUCTS AND FACTORS

Ax+a)x+b)=x*>+x(a+b)+ ab.

(a+b)F=a®+ 2ab + b

.(a—=bF =a*—-2ab + b

(a+b+cP=a’+b>+c*+ 2ab+ 2bc + 2ca.
a+b)f+(a-bF=2(a®+ b*).

(a+bfP—-(a—-bF=4ab or

(a—bF—(a+b)=—4ab.
Z.(a+b)P=a’+b+3ab(a+b)=a’+ 3a’bh + 3ab® + b°.

8. (a—b F = a°—b°— 3ab (a —b )= a’°-3a*bh + 3ab*—b°.

9.(a—- b)la+b)=a*- b

10.(a—=b)(a+ b )(a® + b* )= a* — b*.

11.a° + b° = (a + b ) a®— ab + b* ).

12.a°— b° = (a— b )( a® + ab + b* ).

13.a° + b + ¢ — 3abc = (a+ b +c )(a® + b* + ¢* —ab — bc — ca ).

14. CONDITIONAL IDENTITY: If a + b+ ¢ = 0, then a’ + b’ + ¢’= 3abc.
15.a% + a?p*> + b* = (a® + ab + b* )( a® — ab + b* ).
16.a*+a*+1=(a*+a+1)(a*—a+ 1)

17.a°+ b6 = (a* P+ (b* F = (a®* + b* ) (a? — a*b* + b?).

18. a®— b= (a’ P— (b’ F=(a’ + b6°)(a’— b°)=(a+b)(a’—ab+ b*)(a—-b)/(

a’ + ab + b* ).
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